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In adolescence, boys' voice deepens due to -

(1)  Enlargement of pharynx
(2) Enlargement of windpipe
(3) Enlargement of trachea
(4)  Enlargement of the larynX

A particular described distances 25m and 33m
in 5% and 7% seconds respectively, moving
under constant aceeleration m @ line. Iis
acceleration is -

(1) 2m/fsec?

(2) 6 m/sec

(3) 4 mfsec

(4) 8 m/fsec’

Let =(2i-j+k), B=(i+2j-k) and E=(i+]-2k) be
three vector. A vector in the plane of b and &
whose projection on 4 is zero, will be -

(1) -2i-j+5k

2) j+k

@) j-k

@) i+i-k

A physically disabled smdent worked hard in
academics and achieved merit in board
examination. This type of ego defence
mechanism is called —

(1) Sublimation

nﬁ Rationalization

(3) Identification

(4) Projection
If H=»xi+2yj+32k then [[ H.AdS is
equal 10 (where A is the volume enclosed
by

is an 0dd function?
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The third divided difference of = based on the G X0 X1, X0, Xy IR JmRey - o1 g
POINLS Xo, x|, X3, K3 is — foprfore ST=Te & —
(1) 1 (1) L

Xo X Xg Ny Xo X1 Xz %3

ANU =1 2) =1

Xg Xq Xz X3 Kp X1 Xz Xy
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Which of the following teaching aid is most 9. SR @ 3190 g & e, Frefaras &
effective according to Edger's conc of W P BE wEres yrE S g
experience? &7
(1) Motion picture 1 =w-—fE
(2) Experiment ()
a\uu ﬁo_.E.uw model /@L T AEw ()
(4) Film ) e of
. Geometrical meaning of Lagrange’s linear 10, sy aw iR od@e @R
partial differential equation Pp+ Qq =R is - ?.Tonnwﬁﬂ%%a&mrmw <
(1) Normal at point (x, v, z) of any surface 1 = ge fluy. 2 =0
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A Necesg
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feasible Solution wient condition for 4 basic
Program
(for al j) _
M - cj=0
@ 2 =0

D z-gxg

10 a minimizarion linear
Ng problem to be an Optimum js that

@ z_¢ieg

If interng) of differencing is unity, then

A (1-ax) (1-bx?) (1-ex%) (1-dx)is -
(1) 1-abed

@ 1o - gpeq

(3) E . abed

@) (abed)/[10

172 3
Ifz= 1% Ahv
YR then . 50)

) =

(2)

3
)

15 equal to -

If S and T are subspaces of a vector space, 20,

V(F), then which of the following relation is
(1) S+T=LEUT)

@ LEUD=LE+LT)

) SeL(T)e=L(S)cL(T)

17, T W e,

el gHTA & 3

51@%%

(1) z-ci=0
~—{2) zi-¢=0
Jﬁww. zj—-ci20

@) zj—cj#0=

A ST T IR 578 &, 179 419 (1-0x)
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(1) 1-abed
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2) LESUT=L(S)+L(T)
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'R =(a, 1, 2,3, 4.5), 44, %), then R is -
(1) afeld
(2)

)
Equation of the axis of right ¢
whase guiding curye js o2 4 y3+ 7= h A+ Y
=2

()

(2)

3)

4)
If A={1,2,3},8={3,4}andC= {4506},
then (AXB)N (AxQ)is- (1 3)(TW(23 [~

M {(14),(1,5),0,6)) e O
2) {(2,9).(2.5),(2,6)} 34
(3) {(3,4).(3,5),(3.6))

@ {(1,4),(2,9),(3 4)}

‘While using mixed strategies, the players must

anng without zera divisors
lar cylinder.

i85 -

X=2y =2,
Ii=y=2;
X=2y=y
2x =2y =2y

PRTEY
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CE

use -
1
2)

(3)

)

Only one strategy esch
The available mq.ﬁmﬁnm equally
Information of each other’s strategies
The available stratcgics mnSEEm 10
proportions and ensure secrecy of
their strategy
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13.

P,

ofe R=((0,1,2,3, 4 5}, +6 Xa), T R & _
(1), uh &

(2) wF fevror @@

(3) T A ARAH HET THE

() wrari A 3 3T Tog

e R S 1
Mty =dixty+2=2 2 B oy oy
HHIERT &
(1) x=2y=2z=¢
() x=y=2z %
3

f/.TCl 2x=2y =12z
afe A = {1,2,3},B = {3, 4} @1
i C={456}a (AXB)n(AxC)¢ —
(1) {(1,4,(1,5),(1,6)}
@) {(2.4).(2.5).(2.6)]
3) {(3,4),(3.5).(3.6))
TN {(1,4),(2,4), (3,4))

Ix=32y=2

14, Rl oty o s <, R o

T A @i —
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(3) T TR AR e @
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(1) m(mil)

2) m?

(3) (m+m
T 0
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2)

3)

(4)

o
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=logx
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Zx

log x

“loga
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22, Jf f(x) = X (x-1) (x-2), ¥x € (0, 3) satisfies

Lagrange’s mean valye theorem at point X = ¢

then value of ¢ is -
-3]-0
e I S le))
+ (D .
- s
3

6
ST,

6—+21
G

(2)

6
6 ++/26
6
6 — 26
6
The asymptotes of curve x(x-y)* =3 (x* -y?) +
8y =0 are -
(1) = 3=07%
(2) x+3=0;
3) x+3=0;
4 x+3=0;

3)

@)

23.

X—y=4andx-y=2
Xx—y=dandx-y=2
X—y=-4andx-y=-2
x+y=4and x+y=-2

It t is a linear transformation defined from a
vector space V(F) to V/(F), where V(F) is finite
dimensional, then which of the following is
true?
(1)
(2)

rank (t) + dim (v) = nullity (t)
rank (t) + nullity (t) = dim (v)
(3) nullity (t) + dim (v) =rank (t)
(4) nullity (t) — dim (v) = rank (t)

Given —

R a2
1 164872 23632 2.71828
Then by Simpson’s %

X

fxy= GSinx

rule, value of

™
JZ SN Xdx is — (using 7 = 3.14159)
(1) 3.09329
(2) 3.0999
(3) 3.9529
@) 3.09000
26.  For algebraic structare (G = (0,1], ), correct
 statement is -
(1) itis only semi group
i it is moniod
it is group
it is commutative group

.

23.

24,

(4) nullity (t) — dim (v) = rank ()
25. farz-—
XU )
o™ 1 1.64872 23632 2.71828
79 R & = w9, [2 %% dxg
M 2 — (t=23.14159 o)
(1) 3.09329
(2) 3.0999
(3) 3.9529
4) 3.09000
26. 4o WREA (G=(0,1],») @ forg

R f(x) =x (x-1) (x-2), VX € (0, 3
T THY BT x = ¢ R I @wa ¢
¢ T A & —
(1) 6++21

6
6—421

6
6+v26

)

3)

6
6 — 26
6 ol
ECa x(x—y)2—3(x2—y")+8y=0ﬂ'ﬁ

wfdfgi € —
() x-3=0;x-y=43Rx-y=2
Q) x+3=0;x-y=43Rx-y=2
3) x+3:0;x—y=-43ﬁ'¢x—y:~2
@ x+3=0;x+y=43Rx+y=-2

AfE ¢ wfw wwite V(F) @ V/(F) ¥ aim
U WEF WA 7, SiEl V(E) g )
2, 1 /9 8 9§ g 9 27

\61)\ rank (t) + dim (v) = nullity (t)
(2) rank (t) + nullity (t) = dim (v)
(3) nullity (t) + dim (v) = rank (t)

)

HUA B — (=N}

(1) TE dId G T @
T8 HIAES §  dETHS

3 IE WE

@ 7E PR e e
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21.

02-Q

A necegg
feasih

(for al) j) _
(1)

(2)
(3)
@)

Z-cj=0

Zj-¢j<(

Zj—¢j>(

Zj—cj %0

If interna] of differencing 1S unity, then
A" (1-ax) (1-bx2) (1-cx?) (1-dx%) is -

(1) 1-abed

@ (10 - apeg
@) 10 . abea

@) (abed)/[10

x+yl/2

fZ= o

0z 5
then (a)(ﬂ,u) is equal to -

)
o)
@
@

If S and T are subspaces of a vector space,
V(F), then which of the following relation is
not correct?
(1) S+T=LESUT)
@) LESUT)=L(S)+L (T
@) ScL(M&LE6)cL(T)
@ LIL(D]=L[T]
Which one of the following is not a nature of
Educational Psychology?
(1) Behavioural Science
(2) Positive Science
(3) Normative Science
(4) Applied Science

17.

18.

21.

_-‘-‘_-‘-—-'-‘_—!—__

Page 5 of 3

R m*%m%g
% g%aﬁm
ﬁmw’rﬁwﬁ%(mﬂj%%%j——

@ 4-4=0

~—Q) zj—¢i <0

zi—cj>0

4 zj—c¢i #0~

gfe T PT IS g€ 8 o7q A (1-ax)
(1-bx?) (1-cx°) (1-dx?) &

(1) 1-abed

@ [0 - abed

3 10 . abed

(4) (abcd)/m

! x+},1;’2

(¢}
)
3
4) 3
afe S @ T, 16 wRw e VE) @
SUFHEiey] €, 79 A ¥ | BT Gay 9E)
el 287
(1)

(2)

S+T=LEUT)
LSUT)=L®S)+L(T)

3) ScL(MeLE®<L(D)

4 LI[L(M]1=LI[T]

Frfafeg 3§ @ a9 Rer =fism @

Ui T 82
(1) ZEERE @@
2) e EFEE®) B

@) sy s




27. The interpolation formula f(x) =
f0) + xg, A2
f(-2) 4+

(1)

(2)

f(1) + *1c, A

f0) + 2¢5 A3 gy o, At
is known ag -

Gaugs Forward formula

Gauss Backward formula

OIG Third formula
(4) None of these

Which ope of the following is included in
hardware technology?

(1) Teaching machine
(2) Learning materja]
3) Teaching strategies
(@)  Tools of evaluation
The condition that the cone ax* + by? + cz2 +
2uX + 2vy + 2wz 4 d = 0 may have three
mutually perpendicular tangent planes, is -
(1) bctcatab=12+ 2412
(2) x24+y2=z%an
(3 a+b+c=0
4 uva+vb+wc+d=0
If f(x) is an odd differentiable function defined
on set R such that £(5) =-3, then £ '(-5) is equal
to -
) =5
2) 0
3 3
(4) Does not exist
Which of the following are included in learning
process?
(A) Psychology of learning
(B) Factors affecting learning
(C) Motivation for learning
Select correct option by using above
characteristics —
(1) Only (A)
(2) Only (A), (B) & (O)
@ oy®&©
e

e R N

27. ﬁé“’ﬁqﬂ("hfﬂnv
A2 £(0) +7C3 ALy oy
mm%‘
W) T S i e
@ 7 T R g
@) T Ty

B e T v sty
(1) R ey
2) g]@ﬂww
@) Ry

T T B gug

29, ?1'?@ax2+by2+czz+2ux+2vy+2wz+d
=0 HIT TR woifrs wef waae 25
WW

) betcatab=£4 g2, 12
(2 x*+y>=22tn%

(3) a+b+c=0

(4) uva+vb+wec+d=0

30. uﬁtﬂg’ﬁszWQﬁHﬁﬁWf(x)W
VHT I sderta e & 5 £7(5) = -3,
T9f°(-5) TR & —

1 -3
2 o
3) 3
@) e _
Frefie & Q @9 _sfrmr sfban ¥
wfeefera 87
(A) it o FAIAST
(©) aﬁmqiﬁﬁ-ﬂ'al“ﬁ“
ey @1 oo P —
(1) @ad (A) :
el (A), (B) T4 (C)
@) @aa B) 9O
@ @aa (o)W C)

'CIAf(0) + o))
CiA* 52 +
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Image of a line x = 1 i the Z—plane under the
2
transformation w = 1 j
2
(1) (u-2%2+v=
@) u?+(v-12=
3) (u-1P+vi=|
(4) straight linev =24
Solution of minimal assignment problem 33.
whose effectiveness matrix is following —

I 11 111 v

4
6
9
8

4
7
3

(1) ASILBSILCoIV,D—=1
2) A-HILBSILCSIV.D—=1
3) A-ILB—=I.C>ILD—IV
(4) All above

If g(x) is the inverse function of an invertible  34.
function f(x) which is differentiable at x = -1,
then g'[f(-1)) is equal to -
@ =1
F-D
2 f'{=1)
(3) 1
£i(=1)
(4) 1
f-1)
The condition that the gradient of one line is
twice the gradient of the other line represented
by the equation ax? + 2hxy + by? = 0 is -
(1

35.

8
b= —=h?
a 3h

: (2) a_b - ; hz
ab= — _— ,&E

——vh
b

o

Y x = 51 Z S SR w = g
It wfafaa & —
1 (-27+v=1

ui+(v-17=1

(u-172+v =1

4
6
9
8

3
8
4

1) AIILLB—I,C—>IV,D—1

(2)
3 ASILB—-SIIC—SLD—IV

(@) SuRIgd G
A g(x), Th FSHAUNE Be  f(x),
X = -1 X JGHHIT B, DT WiaE B &,
9 g {f(-1)) |ER & —

a -1

f'(—1)

D)

1

A>SILB—ILC—=IV,DoI

(2)
3
)
@ _1
f-1)
HHIBYT ax* + 2hxy + by? = 0 gRI {6,
U NG Sl SR B gE @1 o FavT
| S BN Bl afe @ —
1) ab=§h2 nL.l__
a-b

%’J.:-ﬁh
'n\,l': (C?(b
m, = XL

—1

= ey
30‘0" ﬁ-o
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A Bapg = ' —
ANd C are yn;t Veclors. A is perpendicylar

L B =

© both B ;g Cand an

30°

gle between B and C is
- Then Vector A s -

M + B x ()
(2) i_;:(ﬁx-é)
3 i2(§x6)
4 1

() i;(ﬁx(‘:’)

37 Incorrect statement s -

(D) A skew Symmetric tensor of rank N in
4 VN will have no independent
Components.

(2)  Skew symmetric tensor of rank 4 in V;
Space are identically zero.

3) If Nis even, then the non vanishing
components of an anti- symmetric
tensor of type (0, N) is —A 13 N

(4) In Quotient law, the arbitrary tensor
taken, should not posses  any
symmetric or skew Symmetric
property.

Which of the following is not a harmonic

function?

(D =x2% y?

2 u=x*-y?

(3) u=sinhxcosy

B .

38.

@ u=log(x*+y?)

a b, € are unit vectors, b and & are non collinear
r

vector. If 3@ X (ZEXE) =b, then angle

I 90°

(2) 60°
@) 45°

kﬂj 0°
. i '

@a.z)u,— @_{5)8:1
s(@91-D= 3
@'.C‘:. N

T
e M
@_Jpage 90f 33
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40. A child can classify, arrangé, combi

ne and

: : 3 ing to
reverse order of different objects- According

Piaget, this cognitive ability develops in which

of the following stages?
(1) Pre —operational
(2) Intuitive
(3) Concrete operational
(4) Formal operational

If y = y(x), then which of the following
differential equation is linear?
1) d_) 7 & S s
( dx+x Ve
@ Sf- sinx =x"y

@ (1+y)T+PEy=0x)

4 o
L) y+%=x+y

For the metric ds® = (dx')* + (dx*? G(x', x%),
the Christoffel symbol [22, 2] is -
§))

2
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“)

If P is an invertible matnx, then incorrect
statement is -
(1) IfPis adiagonal matrix, then P! is
also diagonal matrix.
(2) IfPisasymmetric matrix, then P! will
also be symmetric.
(3) If P is scalar matrix, then P! will also
be scalar.
(4) 1f|P| = 6, then |P!| = 6

In Euclidean space of N — dimension, Ak is
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; L7 Pn s Pn(x) 3] 3'§%
i e (x) is Legendre polynomial, then p:(1) 45 ;ET = VR 3 ¢ Pi(1)
il 1 2 4 Bachl
i 2 2niq G ST
(2) -.2.:1_1“_]; -l_ E_"r% (2} i
! = e (121+1)
' (3) Dno+yy J =
46 ) HEI-I:_ﬁ @) n(n+1]1
il T, 46. [ [k
aueofrntegralI J' ek dxdy is - W;i: ) ;ea dXdy'Cb‘r?ﬂ'-![g‘*_
: X
(1)4 ¢ . 1 e
(2) e 2) el
Q) e @2
4) o “) A2
47. The mean deviation from mean of the daa 47. WHPI a,a+datod a + 2nd &1
S e S a+2nd is - > WrEa 9 AR fawem
1) 1 (n+1)
oy 4 @ (2n+1)
(2) nGew 2) n@+D)
(2n+1) d ) (2n+1) d
3) o n
2 Zn31 d_ ) 2n+]
(4) 1n@n (4) 1n(+1)
2 (2n+1) 2 (2n+1)
48. A moral perspective that focuses on the ri ghts 48. ifds aRYey S &ifa & sfteR! g Sfeg
of the individual is called — BT 8, BEcl & —
(I) Care perspective 1) <=9 uRiey
(2) Justice perspective 2) =T uRvey
(3) Individualistic perspective @) frrr o
(4) Ethical perspective \(41_‘ Sl e
49. Ps(x) Qs(x) — Qs(x) Ps(x) is equal to — 49.  Ps(x) Qs(x) — Qs(x) Ps(x) aRTR 2 —
(Where Pn(x) and Qu(x) are Legendre’s (STBI Pu(x) I Qu(x) 7T W27 T faediry
' _ polynomials of first and second kind USR & ool 98UG §)
= | respectively)
. 7 7
(1) =X 1) =X
! a2 =x @ =x
] @ @) ix
@ =x° @ =x?
50. Equation of Tangent line at point A=1 to the 50, g r= (14, A% 1+ ) @ 875 A=1 & wpaf
curve r = (144, -A% 1+ 47) is - G o FHADR &~
= =1 7~2
T S et s =

:7'1 =2 T. \@‘ x—1—=—-5—

x—1=-2(y+1)=3(z~2)
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513

; and
AR bag contains 2 white al'ld 3 b]ack balls an
“B" bag contains 4 white and 5 black palls. A
ball is drawn from either bag. If it is black, thcr}

what is probability that it was drawn from.
bag?
(1)

(2)
3)
“

26
a5
75
156
65
156
75

158

of the following cannot be an integrating

factor?

1)
(2)
3)
@

¥

53. IfPbe a3 x 3 matrix whose determinant value
: is 10, then the determinant value of the marix
-3Pis-
(1) 270
(2) -270
(3) 207
@ -207

In solving by iteration method, the equation
% —xis 1 =, to be convergent i, the

mghbﬂmboodof:tsroolx--om can be
ltcn in which of the following form?
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60. If @ is differentiable yeptor point function
u is a differentiable geupr point function: i
VX (ud) is equal g -

(1) (Vu)x5+tl(Vx5)

(2) (T}xu).ﬁﬁru(v”0

S 3)
| (3) Vu.a+u Vx"‘ (3. ik =5
| (d)5hi 5+(u 3 (4) Vuxatu (_V X"d) _
| (Vxa) : 6. AelT BT HHTHI] ﬁﬁm%
61. ﬂ:‘e equation of the right circular ‘cyhndef e il T e R, BNl 3 :
W{l?‘-ty’tkr: i_:;ms and radius is T+ 18 ~) yf + Zj 2 :’
(2 Z+x2=p ()it = =T
3 x2+y=p (S NS
(@) x4y’ +2=p Wit et eaalan
TEL 2 —
62. The evaluate of the parabola y> = 4ax is - 62. WESA y *flax 2 KFFQT:!
(1) 27 ay? =4 (x + 3a)? 1)y 27 ay;:4(x+3d)j
(2) 27ay’=4(x- 3a)? 2) 27 ayJ =4 fx - 3:1)'1
() 27ay’=4 (x +2a)° (3) 27ay*=4(x+2a)
(4) 27ay’=4 (x -2a) ~) 27 :}yz =4 (x = 2a) :
63. t:R° >R t(ab)=(a+b,a—bb)V(ab) 63 %ﬁ‘éﬁﬁWﬁTﬂl:R'—:R'.l(a,b}:{“h
€ R? is a linear transformation, then ker(t) is a—b,b)V (ab)e R B, I ker(t) T
equal to - T
(1 {(1,0} @ {10}
@ {(1,-1)} 2 {a,-1D}
) {(0,0)} 3 {(0,0)
4 {(0,0,0)} @ {(0,0,0)}
64. Incorrect statement is — 64. eid BAA B —
(1) IfS; and S> are two convex sets in R”, mn 3 S1TT Sy, R" # 3l e
then Sy + S is also convex set. hijitn ? dl S+ S, W sy
2) IfS;and S are tw ts in R S ,
(2) lhcﬂlstm Sz arf:ll o;onvex sets in R", @) S Sy R4
1 — Sz is also convex set. S B, @ S, - S, A d
(3) IfS;=ax+biy+ciz+di=0and =Y |
Sz = axx + bay + c22 + da = 0 are two (3) Iﬁ%'S!=a1)(+b|y-1~clz.+d;=|.’J
planes in R", then (S1 U S2) is a AT S> = arx + boy + 2z + dr =0, R!
convex set. ¥ a7 A B, al (S) LU S3) ¥ T
4) S =ax+biy+ciz+d =0and @ qﬁamﬁg Hﬂea_q =
Sz=azx+bzy+cgz+d;=03mm.o ar St=afl+b|_\3+("\2+dl=[? g
inR" : / 2= WX + bay + oz + da= 0,
planes in R", then (S N S2) isa ¥ A T B W (S, (6 @
: convex set. '? (511 52)
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